
 

ISWK-Primary/Department of Mathematics (2022-2023) 

  
 

P
ag

e1
 

Read the instructions and do as directed. 

I. Choose the correct answer and complete the following. 

1) The distance from ISWK Primary and ISWK Senior School is about 2 ________ 

    (a) m                    (b) cm                     (c) km                 (d) mm 

2) We convert millimetres to centimetres by ______________________ by 10. 

    (a) adding              (b) subtracting         (c) multiplying      (d) dividing    

3) The weight of a pencil box = 230 g, which is = ____________ kg 

    (a) 23                    (b) 2.300                 (c) 0.23               (d) 230.0 

4) 1 millilitre = ___________ litre. 

    (a) 1000                 (b) 100                    (c) 0.001             (d) 0.01 

5) If an insect moves 10 cm in 1 minute, it will move _______________ m in one hour.  

    (a) 100                   (b) 600                    (c) 6                   (d) 0.06 

II. Fill in the blanks with the correct answer. 

1) 8 m 95 cm = _____________ cm. 

2) 60 cm 6 mm = ____________ mm. 

3) 7080 ml = ______________ l. 

4) 1248 ml = __________ l __________ ml. 

5) 19 kg 76 g = _____________ g. 
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III. Convert the units as instructed. 

a) 24,680 ml to litre. 

__________________________________   

__________________________________   

__________________________________   

__________________________________ 

__________________________________ 

b) 45.5 cm to mm. 

_________________________________ 

_________________________________   

_________________________________   

__________________________________ 

__________________________________ 

c) 569 m to km.     

_________________________________ 

_________________________________   

_________________________________   

_________________________________ 

__________________________________ 

d) 86.25 kg to g. 

__________________________________ 

__________________________________   

__________________________________ 

__________________________________   

__________________________________   

e) 92.07 m to cm.     

_________________________________ 

_________________________________   

_________________________________   

_________________________________ 

__________________________________ 

f) 1357 g to kg. 

__________________________________ 

__________________________________   

__________________________________ 

__________________________________   

__________________________________   

IV. Solve the following word problem. 

g) Tara is 15 cm taller than Jane. If Jane’s height is 1.35 m, what is Tara’s height?  

________________________________________________________________________ 

________________________________________________________________________   

________________________________________________________________________   

________________________________________________________________________ 
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